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Question Number : 1 Question Id : 87827044849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The relationship between a unit length and weight of yarns is mapped by

1. Yarn Numbering System
2. Yarn Counting System
3. Yarn Cording System

4. Yarn Metering System

Options :

878270176241. 1
878270176242. 2
878270176243.3

878270176244. 4

Question Number : 1 Question Id : 87827044849 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270176241. 1
878270176242. 2
878270176243. 3

878270176244. 4

Question Number : 2 Question Id : 87827044850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

............................. is the ability of a fiber to resist damage from rubbing or direct contact

1. Cohesiveness

2. Density

3. Abrasion Resistance
4, Drape

Options :

878270176245. 1
878270176246. 2
878270176247. 3

878270176248. 4

Question Number : 2 Question Id : 87827044850 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270176245. 1
878270176246. 2
878270176247.3

878270176248. 4

Question Number : 3 Question Id : 87827044851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Warp yarns and weft yarns in a fabric interlace with each other. When one yarn does not interlace with the next adjacent
yarn, but passes over two or more adjacent yarns, it is called @ ...

1. Loop

2. Float

3. Fabric defect
4, Selvedge

Options :

878270176249. 1
878270176250. 2
878270176251. 3

878270176252. 4



Question Number : 3 Question Id : 87827044851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
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Options:

878270176249. 1
878270176250. 2
878270176251. 3

878270176252. 4

Question Number : 4 Question Id : 87827044852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The Tex System was introduced in the year to designate yarn size

1970s

50s
50s
1800s

o

8]

1
L]
1
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=]

1.
2.
3
4.
Options :

878270176253. 1
878270176254. 2

878270176255. 3

878270176256. 4



Question Number : 4 Question Id : 87827044852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270176253. 1
878270176254. 2
878270176255. 3
878270176256. 4

Question Number : 5 Question Id : 87827044853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

50s count spun varn will have ..o the weight of 100s count spun yarn
I S ¥

1. Same
2. Double
3. Triple
4. Half

Options :

878270176257. 1
878270176258. 2
878270176259. 3

878270176260. 4



Question Number : 5 Question Id : 87827044853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270176257. 1
878270176258. 2
878270176259. 3

878270176260. 4

Question Number : 6 Question Id : 87827044854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which is the strongest weave, if the number of yarns per inch is same in all the following weave structures.
J I b

1. Basket Weave
2. Satin Weave
3. Twill Weave
4. Plain Weave

Options :

878270176261. 1
878270176262. 2
878270176263. 3

878270176264. 4



Question Number : 6 Question Id : 87827044854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270176261. 1
878270176262. 2
878270176263. 3

878270176264. 4

Question Number : 7 Question Id : 87827044855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A woven design that contains very detailed intricate motifs is known as

1. Jacquard

2. Leno

3. Cut Pile Structure
4. Loop Pile Structure

Options :

878270176265. 1
878270176266. 2
878270176267.3

878270176268. 4



Question Number : 7 Question Id : 87827044855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270176265. 1
878270176266. 2
878270176267. 3

878270176268. 4

Question Number : 8 Question Id : 87827044856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The spaces or cracks between groups of warp yams is known as which of the following type of weave defect.

1. Slub Defect
2. Barre Mark
3. Reed Marks
4. Tight Selvage Defect

Options :

878270176269. 1
878270176270. 2
878270176271.3

878270176272. 4



Question Number : 8 Question Id : 87827044856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270176269. 1
878270176270. 2
878270176271.3

878270176272. 4

Question Number : 9 Question Id : 87827044857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

During the identification of cotton by solubility test which chemical along with % is used in testing labs

1. Sulphuric Acid 70 %
2. Xylene 5%

3. Acetic Acid 1%

4. Acetone 5 %

Options :

878270176273. 1
878270176274. 2
878270176275.3

878270176276. 4



Question Number : 9 Question Id : 87827044857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. GeDR® 35 70 %
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Options:

878270176273. 1
878270176274. 2
878270176275. 3

878270176276. 4

Question Number : 10 Question Id : 87827044858 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The loom parts in the direction from one end to weaver's side end
(A). Warp Beam

(B). Harnesses

(C). Reed

(D). Fabric Beam

Choose the correct answer from the options given below:

Options :

878270176277. 1
878270176278. 2
878270176279. 3

878270176280. 4

Question Number : 10 Question Id : 87827044858 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270176277. 1
878270176278. 2
878270176279. 3

878270176280. 4

Question Number : 11 Question Id : 87827044859 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shuttleless looms were introduced in the year

1.1930s
2. 1940s
3. 1950s
4, 1960s

Options:
878270176281. 1
878270176282. 2

878270176283. 3



878270176284. 4

Question Number : 11 Question Id : 87827044859 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2.1940 & & H
3.1950 & GI® H
4. 1960 & CXd H
Options :

878270176281. 1
878270176282. 2
878270176283. 3

878270176284. 4

Question Number : 12 Question Id : 87827044860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cotton is a taken from which part of the plant

1. Seed
2. Leaf
3. Bast
4. Root

Options :
878270176285. 1
878270176286. 2

878270176287. 3



878270176288. 4

Question Number : 12 Question Id : 87827044860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270176285. 1
878270176286. 2
878270176287. 3

878270176288. 4

Question Number : 13 Question Id : 87827044861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A heavy weight, bright, fine-yarn fabric with reverse jacquard design on both sides used for draperies and tablecloths is
KNOWN 5 e

1. Damask
2. Lawn

3. Grospoint
4. Corduroy

Options :
878270176289. 1

878270176290. 2



878270176291. 3

878270176292. 4

Question Number : 13 Question Id : 87827044861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270176289. 1
878270176290. 2
878270176291. 3

878270176292. 4

Question Number : 14 Question Id : 87827044862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The length of cotton fiber ranges between

1.1/2 Inch to 2 inches

2. 1/2 Inches to 20 Inches

3. 100 Inches to 150 Inches
4. 1000 Inches to 1100 Inches

Options :

878270176293. 1



878270176294. 2
878270176295. 3

878270176296. 4

Question Number : 14 Question Id : 87827044862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270176293. 1
878270176294. 2
878270176295. 3

878270176296. 4

Question Number : 15 Question Id : 87827044863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a desired fabric with 110 ends per inch , 45 inches width, the warp beam should have how many warp yarns:

1.4950
2.4500
3.4000
4. 5000

Options :

878270176297. 1



878270176298. 2
878270176299. 3

878270176300. 4

Question Number : 15 Question Id : 87827044863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270176297. 1
878270176298. 2
878270176299. 3

878270176300. 4

Question Number : 16 Question Id : 87827044864 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Features in all woven fabrics
(A). Stitch per inch

(B). Selvage

(C). Face and Back

(D). Yarns per inch

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.

2. (A), (B) and (C) only.

3. (A), (B), (C) and (D).

4. (B), (C) and (D) only
Options :

878270176301. 1
878270176302. 2
878270176303. 3

878270176304. 4

Question Number : 16 Question Id : 87827044864 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270176301. 1
878270176302. 2
878270176303. 3
878270176304. 4

Question Number : 17 Question Id : 87827044865 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which property of fiber is considered as its aesthetic property

1. Abrasion Resistance
2. Absorbency

3. Luster

4. Thermal Retention

Options:
878270176305. 1
878270176306. 2

878270176307. 3



878270176308. 4

Question Number : 17 Question Id : 87827044865 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270176305. 1
878270176306. 2
878270176307. 3

878270176308. 4

Question Number : 18 Question Id : 87827044866 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

80X74 defines which of the following

1. Ends per inch
2. Picks per inch
3. Thread Count
4. Ends per inch and picks per inch

Options :
878270176309. 1
878270176310. 2

878270176311.3



878270176312. 4

Question Number : 18 Question Id : 87827044866 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270176309. 1
878270176310. 2
878270176311. 3

878270176312. 4

Question Number : 19 Question Id : 87827044867 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-ll

List-1 List-1I

Defects in Woven fabric Defects details

(A). Broken end (I). Warp ends in selvage under high tension causing puckering in the selvage

(B). Slub (I1). One or more yarns under tight tension

(C). Tight Selvage (Ill). Space in the fabric caused by a yarn wholly or partially missing from the fabric
(D). Slack end (IV). An abruptly thickened place in a yarn caused by the waste

Choose the correct answer from the options given below:

1.(A) - (1), (B) - (). (C) - (), (D) - (IV)

2. (A) - (1), (B) - (I, (C) - (), (O) - (IV)

3. (A) - (1), (B) - (). (C) - (1v), (D) - (i)

4. (A) - (), (B) - (V) (©) - (1), (D) - (1)
Options :

878270176313. 1
878270176314. 2
878270176315. 3

878270176316. 4

Question Number : 19 Question Id : 87827044867 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. (A) - (1), (B) - (), (C) - (), (D) - (IV)
3. (A)- () (B) - (IN), (C) - (IV), (D) - (1)
4. (A) - (), (B) - (V). (C) - (1), (D) - (M)
Options :

878270176313. 1
878270176314. 2
878270176315. 3

878270176316. 4

Question Number : 20 Question Id : 87827044868 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ortho Cortex and Para Cortex is main component of which natural fiber

1. Cotton
2. Flax

3. Wool
4. Pina

Options :
878270176317. 1
878270176318. 2

878270176319. 3



878270176320. 4

Question Number : 20 Question Id : 87827044868 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270176317. 1
878270176318. 2
878270176319. 3
878270176320. 4

Question Number : 21 Question Id : 87827044869 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



hMatch List-1 with List-II

List-1 List-11

Class of Dye Applied on fiber
(A). Acid Dyes (I). Nylon Spandex

(B). Cationic Dyes |(Il). Acrylic

(C). Disperse Dyes|(lll). Acetate

(D). Vat Dyes (IV). Cellulosics

Choose the correct answer from the options given below:

) (B) - (1), (C) - (1), (D) - (IV)
), (B) - (1), (C) - (), (D) - (IV)
) (B) - (1), (C) - (1V), (D) - (1)
- (1), (B) - (V). (C) - (1), (D) - (1)

Options :

878270176321. 1
878270176322. 2
878270176323. 3

878270176324. 4

Question Number : 21 Question Id : 87827044869 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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) (i) ) (D) - (IV)
) (B) - (1), (C) - (1), (D) - (IV)
) (), (C) - (V) (D) - (1)
I

Options :

878270176321. 1
878270176322. 2
878270176323. 3

878270176324. 4

Question Number : 22 Question Id : 87827044870 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The process of dyeing involves treating fabric in open width, fabric is not immersed in a dye bath, but rather is passed
through the dye bath from both sides, is termed as .......

1. Beck Dyeing
2. Jet Dyeing
3. Jig Dyeing
4, Piece Dyeing

Options :
878270176325. 1
878270176326. 2



878270176327.3

878270176328. 4

Question Number : 22 Question Id : 87827044870 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options:

878270176325. 1
878270176326. 2
878270176327.3

878270176328. 4

Question Number : 23 Question Id : 87827044871 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The color in a dyed fabric that rubs off rather easily onto other fabric surfaces is termed as which of the following dyeing
defect.

1. Barre

2. Color Crocking
3. Color Bleeding
4, Tender Spots

Options :

878270176329. 1



878270176330. 2
878270176331. 3

878270176332. 4

Question Number : 23 Question Id : 87827044871 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
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Options:

878270176329. 1
878270176330. 2
878270176331. 3
878270176332. 4

Question Number : 24 Question Id : 87827044872 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vicuna and Guanaco are rare wild animals of South America and produces a fine quality of fiber. Which kind of animal
family do they belong to

1. Goat Family

2. Camel Family
3. Sheep Family
4 Rabbit Family



Options :

878270176333. 1
878270176334. 2
878270176335. 3
878270176336. 4

Question Number : 24 Question Id : 87827044872 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fagpT SR T a0 SR b G el IR & i S TJUIa b <1 1 JIG &d ¢ | 3 Mgfciea A 4
0 oy e € Gefia 7

1, 903 Tl
). e T
4. G T

Options :

878270176333. 1
878270176334. 2
878270176335. 3

878270176336. 4

Question Number : 25 Question Id : 87827044873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Vertical columns of stitches in a knitted fabric are called

1. Courses
2. Coarses
3. Knit

4. Wales

Options :

878270176337. 1
878270176338. 2
878270176339. 3

878270176340. 4

Question Number : 25 Question Id : 87827044873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TP TP P FERIAR B Belad

1. DY
2. DALY
3.
4.9cg

Options:

878270176337. 1
878270176338. 2
878270176339. 3

878270176340. 4

Question Number : 26 Question Id : 87827044874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A fiber consisting of two polymers that are chemically different, physically different or both is known as ......

1. Bicomponent Fiber
2. Bielemental Fiber
3. Duogeneric Fiber
4. Bilateral Fiber

Options :

878270176341. 1
878270176342. 2
878270176343. 3

878270176344. 4

Question Number : 26 Question Id : 87827044874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG 1 o & 5 &l &, o1 I 0 T gl & 1 e ®U R e e WA dr e g, 39
el o 5

1, fegem &

), e
3, G
PRFURER|

Options:

878270176341. 1
878270176342. 2
878270176343. 3

878270176344. 4

Question Number : 27 Question Id : 87827044875 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

The formation of tiny balls of entangled fiber ends on the surface of the fabric is termed as .......

1. Drawing

2. Pilling

3. Calendering
4. Puckering

Options :

878270176345. 1
878270176346. 2
878270176347. 3

878270176348. 4

Question Number : 27 Question Id : 87827044875 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BUS Bl Hag W W b Ioisl Y RRI &1 BI Tid1 & & @l GHEIGIE
1. HYU

2. 4o (fufem)

3. BaeXll

4. i usT

Options :

878270176345. 1
878270176346. 2
878270176347.3
878270176348. 4

Question Number : 28 Question Id : 87827044876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Examples of Warp Knits
(A). Simplex

(B). Milanese

{C). Raschel

(D). Tricot

Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A), (B) and (C) only
3. (A), (B), (C) and (D).
4. (B), (C) and (D) only

Options :

878270176349. 1
878270176350. 2
878270176351. 3

878270176352. 4

Question Number : 28 Question Id : 87827044876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



M1 §113 & 3aIe:

Options :

878270176349. 1
878270176350. 2
878270176351. 3

878270176352. 4

Question Number : 29 Question Id : 87827044877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When a dye is used as the printing colorant, it must be made to combine with the fiber. This is accomplished by
exposing the printed fabric to steam at temperatures near or sometimes exceeding the boiling point of water, this step
is called

1. Curing
2. Aging

3. Printing
4. Scouring

Options:
878270176353. 1

878270176354. 2



878270176355. 3
878270176356. 4

Question Number : 29 Question Id : 87827044877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
9 U 00 &1 JUUN BT Tl & ©U & o o1l 3, 1 38 Brges o T Waiford vl o7 iR ¥ ) 08 3 o o

s ®US B UF & HUHID & A0 7 &4-5 08 offie UM W 410 % G0 & o 9 2| S RO @
I G

1, GO
2. BIYHTEH

3. 950
4, 7oH

Options:

878270176353. 1
878270176354. 2
878270176355. 3

878270176356. 4

Question Number : 30 Question Id : 87827044878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a composite fabric

1. Coated Fabric
2. Poromeric Fabric
3. Double Cloth
4. Tufted-Pile Fabric

Options :



878270176357. 1
878270176358. 2
878270176359. 3

878270176360. 4

Question Number : 30 Question Id : 87827044878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofafad § ¥ ®1F 91 te A $Us] Tal 67
1. f[adifud GG

2. URHARE $US|
3. GIgY BUS
4. gYiITER HYSI

Options :

878270176357. 1
878270176358. 2
878270176359. 3

878270176360. 4

Question Number : 31 Question Id : 87827044879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The commercial production of Viscose Rayon began in United States in which year

=i
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o
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Options :



878270176361. 1
878270176362. 2
878270176363. 3

878270176364. 4

Question Number : 31 Question Id : 87827044879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Uy SR H 9%y Wi- & ifticds 3died & o3 g ay o gs 417

1. 1911
2. 1890
3.1884
4. 1999
Options :

878270176361. 1
878270176362. 2
878270176363. 3

878270176364. 4

Question Number : 32 Question Id : 87827044880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The fabrics incorporate very thin microporous film, which allows the passage of water vapor but not liquid water are
termed 25 .......

1. Poromeric Fabrics

2. Semi-Permeable Fabrics
3. Porous Fabrics

4, Membrane Fabrics



Options :

878270176365. 1
878270176366. 2
878270176367. 3
878270176368. 4

Question Number : 32 Question Id : 87827044880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 950 HeH YeAuRe e ol gl g, Fored o a1 IR g1 9l & <ifdhe] oRel U T |

2. 34-T TS
4, TeiieR BUg

Options :

878270176365. 1
878270176366. 2
878270176367. 3

878270176368. 4

Question Number : 33 Question Id : 87827044881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The yarn preparation process that imparts protective coating to the yarn to obtain optimum weaving efficiency, increase
yamn rigidity and decrease yam hairiness, is known as .........

1. Handling
2. Slashing
3. Desizing
4, Bio-Polishing

Options :

878270176369. 1
878270176370. 2
878270176371.3
878270176372. 4

Question Number : 33 Question Id : 87827044881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
T R &% @1 U0 U e &, T 39 ] JIaier W %, 1 1 BoRdl @1 agH 3R G &
I8 1 e o (o0 G 1 W4Ted ol ] i &

1, g
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3, fourEeH

4, 93-THTEH

Options:

878270176369. 1
878270176370. 2
878270176371. 3

878270176372. 4

Question Number : 34 Question Id : 87827044882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

False twist, Draw method, Stuffer Box and Knit Deknit methods are used for adding mainly which property in yarns

1. Bulk

2. Luster

3. Smoothness
4. Strength

Options :

878270176373. 1
878270176374. 2
878270176375. 3

878270176376. 4

Question Number : 34 Question Id : 87827044882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR T (T ), 31 o, T i i e Sife Tt 1 7 0 © i & i 6 fomioen ol a e g
GEIRH
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Options:

878270176373. 1
878270176374. 2
878270176375. 3

878270176376. 4

Question Number : 35 Question Id : 87827044883 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A textile finishing process which involves treating a cellulosic fabric with an alkali to improve moisture regain and
strength of the yarns is termed as ........

1. Mercerization
2. Scouring
3. Bio-Polishing
4, Slashing

Options :

878270176377. 1
878270176378. 2
878270176379. 3

878270176380. 4

Question Number : 35 Question Id : 87827044883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270176377. 1
878270176378. 2
878270176379. 3

878270176380. 4



Question Number : 36 Question Id : 87827044884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gangetic Indian Muslins were well known in Europe, lyrically described as

1. Venti

2. Muslin
3. Cottons
4. Cloth

Options :

878270176381. 1
878270176382. 2
878270176383. 3

878270176384. 4

Question Number : 36 Question Id : 87827044884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 YR HeHa U H 0l o, ol wided ©Ud_ &1 ave afild fodn ol g

1. 44l
> JaHd

3. 9l

4. @Ug

Options :

878270176381. 1
878270176382. 2
878270176383. 3

878270176384. 4



Question Number : 37 Question Id : 87827044885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Primary evidence for the early mordanting of cotton cloth for decoration is provided by the printed textile fragments
found at

1. Greek Civilization

2. Portugese Civilization

3. Dutch Civilization

4. Mohenjo-daro Excavation

Options:

878270176385. 1
878270176386. 2
878270176387. 3

878270176388. 4

Question Number : 37 Question Id : 87827044885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TG o o1t el 0 ) eIl el b e ooy 1 g gfd BUs! o Sl @ freid &

1. T 9T
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3. 51 ¥l
4 I|.:|;:-_'|G | Ei'GTé

Options :

878270176385. 1
878270176386. 2
878270176387. 3

878270176388. 4



Question Number : 38 Question Id : 87827044886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In historical events the word used for both mood and dye was

1. Raga

2. Mordant
3. Indus

4. Reel

Options:

878270176389. 1
878270176390. 2
878270176391. 3

878270176392. 4

Question Number : 38 Question Id : 87827044886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. TEYD
3. T8y
4.3

Options :

878270176389. 1
878270176390. 2
878270176391. 3

878270176392. 4



Question Number : 39 Question Id : 87827044887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Carding of linen fibers is called as

1. Hackling
2. Combing
3. Opening Bundles
4. Blending

Options:

878270176393. 1
878270176394. 2
878270176395. 3
878270176396. 4

Question Number : 39 Question Id : 87827044887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o dd & 9 @I o1 el 9l 87

1. BRI
2. b
4, giETgor

Options :

878270176393. 1
878270176394. 2
878270176395. 3

878270176396. 4



Question Number : 40 Question Id : 87827044888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Red colour in Kalamkari is obtained from the chemical

1. Indigo
2. Alizarin
3. Tannin
4. Vinegar

Options:

878270176397. 1
878270176398. 2
878270176399. 3

878270176400. 4

Question Number : 40 Question Id : 87827044888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GaadR H ard 3 94 8 U 8l g1

1933

1.
2.
3. ¢
4.

Options :

878270176397. 1
878270176398. 2
878270176399. 3

878270176400. 4



Question Number : 41 Question Id : 87827044889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mashru has ... faced weave in the fabric

1. Warp
2. Weft
3. Double
4. Balanced

Options:

878270176401. 1
878270176402. 2
878270176403. 3

878270176404. 4

Question Number : 41 Question Id : 87827044889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AMEAPISH @ au Bl

1. dMI
3. Gledl
4. Hgfera

Options :

878270176401. 1
878270176402. 2
878270176403. 3

878270176404. 4



Question Number : 42 Question Id : 87827044890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 15 the story teller of the Nayak caste performing Pabuji epic.

1. Bhopa
2. Bhupa
3. Bhopali
4. Bhopan

Options:

878270176405. 1
878270176406. 2
878270176407. 3

878270176408. 4

Question Number : 42 Question Id : 87827044890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UTgeil HeldIed & YGRiH - dicl A4 Slid & SYUTER sidl o

1. HgT

2. 41
3 Hﬂqlﬁzz
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Options :

878270176405. 1
878270176406. 2
878270176407.3

878270176408. 4



Question Number : 43 Question Id : 87827044891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pichhavai is a ....ccccceveninrrscencniensnnnn. Cloth from Nathadwara, Rajasthan

1. Printed Shrine
2. Painted
3. Painted Shrine
4. Printed

Options:

878270176409. 1
878270176410. 2
878270176411.3
878270176412. 4

Question Number : 43 Question Id : 87827044891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f@as ISR & UER @1 U@ HUST B
E, %la—iﬂ

ENEIEGR T

4. qfsd
Options :

8782701764009. 1
878270176410. 2
878270176411. 3

878270176412. 4



Question Number : 44 Question Id : 87827044892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Thread counts for Organdy fabric generally range from

1. 200*230 up to 5007550
2. 72%64 up to 84*80
3. 10"15 up to 20*25
4. 500550 up to 600"610

Options:

878270176413. 1
878270176414. 2
878270176415. 3

878270176416. 4

Question Number : 44 Question Id : 87827044892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HITE1 PUS H HHAR U YISl G8AT BT URER fdoaT g1l 82

1. 200°230 T 500+550 A&
2. 72*64 T 84*80 db
3.10%15 9 20725 dd

4, 500%550 § 600 * 610 T

Options :

878270176413. 1
878270176414. 2
878270176415.3

878270176416. 4



Question Number : 45 Question Id : 87827044893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A light to medium soft cotton or woolen type fabric, usually brushed on both sides is known as ......

1. Chambray
2. Percale
3. Melton
4. Flannel

Options:

878270176417. 1
878270176418. 2
878270176419. 3

878270176420. 4

Question Number : 45 Question Id : 87827044893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TF g T1 9 A G 1 31 VR 1 3, o TR W G o o o o ST

gl
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3, Heed
4, T

Options :
878270176417. 1
878270176418. 2

878270176419. 3



878270176420. 4

Question Number : 46 Question Id : 87827044894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Duchesse Satin fabric is

1. A satin made to imitate silk of an earlier period

2. A satin with a plain back and a crisp texture. The fabric is smooth and lustrous.
3. Strong and compact fabric

4. Slipper satin

Options :

878270176421. 1
878270176422. 2
878270176423.3

878270176424. 4

Question Number : 46 Question Id : 87827044894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SO 9ic- dUSI M aidl 67
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Options :
878270176421. 1
878270176422. 2

878270176423. 3



878270176424. 4

Question Number : 47 Question Id : 87827044895 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List-1 with List-Il

List-1 List-1I

Indirect Yarn Number|Length per unit mass

(A). Cotton Count (Ne) |(I}. Number of 1Km hanks that weigh 1 Kg

(B). Woollen Count (Il). Number of 560 yard hanks that weigh one pound

(C). Worsted Count (Il). Number of 300 yard hanks that weigh one pound

(D). Metric Count (IV). Number of 840 yard hanks that weigh one pound

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (1), (D) - (1IV)

2. (A) - (1), (B) - (1), (C) - (), (D) - (IV)

3. (A) - (1), (B) - (1), (C) - (1V), (D) - (1)

4. (A) - (1V), (B) - (1), (C) - (I, (D) - ()
Options :

878270176425. 1
878270176426. 2
878270176427. 3

878270176428. 4

Question Number : 47 Question Id : 87827044895 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (1), (B) - (), (C) - (1), (D) - (IV)
2. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
3. (A) - (), (B) - (), (C) - (IV), (D) - (1)
4. (A) - (IV), (B) - (1), {C) - (1), (D) - (1)

Options :

878270176425. 1
878270176426. 2
878270176427. 3

878270176428. 4

Question Number : 48 Question Id : 87827044896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are the carpet construction parameters
(A). Gauge

(B). Pitch

(C). Maire

(D). Pile Height

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.

2. (A), (B) and (C) only.

3. (A), (B), (C) and (D).

4. (B), (C) and (D) only
Options :

878270176429. 1
878270176430. 2
878270176431. 3

878270176432. 4

Question Number : 48 Question Id : 87827044896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafdiad | 9 o 9 @i Fai & FuRe sing?

"

(A) TS
() T
(C) @R
(D) 3H Bl Hdly
-4 feu T fowenl © € @@t o I+
1. 394 (A), (8) 3R (D)
2. &ad (A), (B) 3R (C)
3. (A), (B), (O) 3R (D)
4. &9d (B), (C) 3R (D)
Options :

878270176429. 1
878270176430. 2
878270176431. 3
878270176432. 4

Question Number : 49 Question Id : 87827044897 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are termed as textile finishing defects
{(A). Bowed Fabric

(B). Limp Fabric

(C). Boardy Fabric

(D). Reed Marks

Choose the correct answer from the options given below:

1. (A), (B) and (D) only

2. (A), (B) and (C) only

3. (A), (B), (C) and (D).

4. (B), (C) and (D) only
Options :

878270176433. 1
878270176434. 2
878270176435. 3

878270176436. 4

Question Number : 49 Question Id : 87827044897 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafoiad # € ®F 4 9% URShU &Y 57
() FP §Y T

(B) fIfd@ ox@

(C) ARSI a8

(D) T3 =M

-4 feu T faweyl 3 @ ¥8T IR 44

Options :

878270176433. 1
878270176434. 2
878270176435. 3

878270176436. 4

Question Number : 50 Question Id : 87827044898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



When color is added to man made fibers before they are spun, the fibers are known as
(A). Solution Dyed

(B). Dope Dyed

(C). Bath Dyed

(D). Open Bath Dyed

Choose the correct answer from the options given below:

1. (A) and (B) only.

2. (4), (B) and (C) only.

3. (A), (B), (C) and (D).

4. (B), (C) and (D) only.
Options :

878270176437. 1
878270176438. 2
878270176439. 3

878270176440. 4

Question Number : 50 Question Id : 87827044898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(B) SIuIford
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Options :

878270176437. 1
878270176438. 2
878270176439. 3

878270176440. 4

Question Number : 51 Question Id : 87827044899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following embroidery techniques are practised in the region of Gujarat
(A). Kathipa Embroidery

(B). Mochi Embroidery

(C). Chinai Embroidery

(D). Kasuti Embroidery

Choose the correct answer from the options given below:

Options :

878270176441. 1
878270176442. 2
878270176443. 3
878270176444. 4

Question Number : 51 Question Id : 87827044899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafafad # 9 ©H Ul s db-id Terid I U Uds 87
(A) BT BEly

(B) A BeT

(c) Forig ers

(D) PN DETS

-4 feu e faeal § ¥ @8t S I:

Options :

878270176441. 1
878270176442. 2
878270176443. 3

878270176444. 4

Question Number : 52 Question Id : 87827044900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Looms which are under handloom category
{(A). Pit Loom

(B). Loin Loom

(C). Treadle Loom

(D). Rapier Loom

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.

2. (A), (B) and (C) only.

3. (A), (B), (C) and (D).

4. (B), (C) and (D) only
Options :

878270176445. 1
878270176446. 2
878270176447. 3
878270176448. 4

Question Number : 52 Question Id : 87827044900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FafRed 3 9 ©F 4 & gudHdl 901 & Sdid offd 82
(A) Tue ®3dn

(B) TS Bl

(C) T3 B

(D) TR B
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Options :

878270176445. 1
878270176446. 2
878270176447.3

878270176448. 4

Question Number : 53 Question Id : 87827044901 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of these are termed under Surface figure weave
(A). Spot

(B). Leno

(C). Swivel

(D). Lappet

Choose the correct answer from the options given below:

1. (A), (C) and (D) only

2. (A), (B) and (C) only

3. (A), (B), (C) and (D)

4. (B), (C) and (D) only
Options :

878270176449. 1
878270176450. 2
878270176451. 3

878270176452. 4

Question Number : 53 Question Id : 87827044901 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frofifad & 4 58 wrg R 909 & ded A1 91 82
(A) i

(B) !

(C) Raae

(D) TUe

- feu e fdmedl 5 ¥ @8 I I+

1.®ad (A), (C) 3R (D)

2 ﬁa—cﬁr A) (B) ¥R (C)

), (C) 3R (D)
4. W (8), (C) 3R (D)

Options :

878270176449. 1
878270176450. 2
878270176451. 3

878270176452. 4

Question Number : 54 Question Id : 87827044902 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of under written fabrics are made by using Jacquard weave
(A). Brocade

(B). Satin

(C). Brocatelle

(D). Damask

Choose the correct answer from the options given below:

A) and (D) only.

, (B) (
A), (B) and (C) only.
; (

(
(
A), (C) and (D).

(
(
(
(B), (C) and (D) only.

1.
2.
3.
4.
Options :

878270176453. 1
878270176454. 2

878270176455. 3

878270176456. 4

Question Number : 54 Question Id : 87827044902 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fofaiad o 61 $us] & Ided 8 WieTs 994 &1 394F 8idl o7
(A) THs

(B) WA

(C) S

(D) GHIRD

i feu e fadeul # © @8 I I+:

3. (A), (O) ¥R (D)
4.%dd (B), (O) 3R (D)

Options :

878270176453. 1
878270176454. 2
878270176455. 3

878270176456. 4

Question Number : 55 Question Id : 87827044903 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the listed below fabrics are made by using Dobby weave technique
(A). Birds eye

(B). Organdy

(C). Pique

(D). Gauze

Choose the correct answer from the options given below:

A) and (D) only.
A) and (C) only.
C) and (D) only

(
(
(
(B), (C) and (D) only.

1.
2.
3.
4.
Options :

878270176457. 1
878270176458. 2

878270176459. 3

878270176460. 4

Question Number : 55 Question Id : 87827044903 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafaiad Ydids @us! § U fod & Iare- | Siel 98- dob-id Bl ST fdadl il &7
AESEEH

(B) AIGEIS

) i

(D) T

i feu ¢ syl H § g8t Iw I

1. %ad (A) 3R (D)
zﬁamaﬁ?

3. ®ad () 3R

4. ®dd (8), (O) a?r{ (D)

Options :

878270176457. 1
878270176458. 2
878270176459. 3

878270176460. 4

Question Number : 56 Question Id : 87827044904 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Production process of Bonded fabrics are
(A). Preparation of fibers

(B). Bonding

(C). Finishing

(D). Formation of web

Choose the correct answer from the options given below:

Options :

878270176461. 1
878270176462. 2
878270176463. 3

878270176464. 4

Question Number : 56 Question Id : 87827044904 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270176461. 1
878270176462. 2
878270176463. 3

878270176464. 4

Question Number : 57 Question Id : 87827044905 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Steps in wool production
(A). Shearing

(B). Carding

(C). Scouring

(D). Carbonizing

Choose the correct answer from the options given below:

Options :

878270176465. 1
878270176466. 2
878270176467. 3

878270176468. 4

Question Number : 57 Question Id : 87827044905 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



F 3G & TN Bl HHTSG DIfelE:
(A) T B
(B) "y

Options :

878270176465. 1
878270176466. 2
878270176467. 3

878270176468. 4

Question Number : 58 Question Id : 87827044906 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Advantages of heat transfer printing method are -
(A). Produces bright, sharp, clear fine line designs
(B). Adaptable to long and short yardage runs

(C). Cellulosic and protein fibers can be printed
(D). Steamers, washers and dryers are not required

Choose the correct answer from the options given below:

1. (A), (B) and (D) only

2. (A), (B) and (C) only

3. (A), (B), (C) and (D)

4. (B), (C) and (D) only
Options :

8782701764609. 1
878270176470. 2
878270176471. 3

878270176472. 4

Question Number : 58 Question Id : 87827044906 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(©) TN SR FIEH dq Afsid fb o o ©

(D) IR, 91R 3R SR 31 HTaGddl el eidl
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Options :

878270176469. 1
878270176470. 2
878270176471.3
878270176472. 4

Question Number : 59 Question Id : 87827044907 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Following are types of novelty yarns
{(A). Slub Yarn

(B). Flake Yarn

(C). Spiral Yarn

(D). Sewing Yarn

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.

2. (A), (B) and (C) only.

3. (A), (B), (C) and (D).

4. (B), (C) and (D) only
Options :

878270176473. 1
878270176474. 2
878270176475. 3
878270176476. 4

Question Number : 59 Question Id : 87827044907 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(C) |fta
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Options :

878270176473. 1
878270176474. 2
878270176475.3

878270176476. 4

Question Number : 60 Question Id : 87827044908 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-Il

List-I List-II

Fabric Type |Features

(A).Chambray(l).Light weight plain weave open construction fabric

(B).Corduroy |(Il).Medium to heavy weight twill weave woolen fabric with fuzzy surface

(C).0rgandy |(Ill).Light weight plain weave fabric with coloured warp and white filling yarns

(D).Tweed  |(IV).Medium weight fabric with length wise wales produced by cutting the pile filling yarns

Choose the correct answer from the options given below:

1. (A) - ), (B) - (1), (C) - (1), (D) - (1)

2.(A)- (1), (B) - (I}, (C) - (), (D) - (IV)

3. (A) - (1), (B) - (1), (C) - (1v), (D) - (1)

4. (A) - (), (B) - (V). (©) - (), (©) - (10
Options :

878270176477. 1
878270176478. 2
878270176479. 3

878270176480. 4

Question Number : 60 Question Id : 87827044908 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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BT 1 THN farTeTg
OEE] () B0 qui o UG 90 it el SH1de & By
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() A= (1) e I & W] 5 9T S o O a1 R Wb G W B &
OEs  |1v). TR T Gl B BIed S o Tt HEH Gar & HUS (oA diaTg & H8R ded Bld &
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1.(A) - 1), (B) - (), (C) - (1), (D) - (V)
2.(A)- (1), (B) - (1), () - (), (D) - (IV)
3. (A) - (1), (B) - (), (C) - (IV), (D) - (1)
4. (A) - (1), (B) - (V). (C) - (), (O) - (1)
Options :

878270176477. 1
878270176478. 2
878270176479. 3

878270176480. 4

Question Number : 61 Question Id : 87827044909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Units of Gauge in a knitted fabric is

1. Number of needles per inch on the machine (npi)
2. Number of picks per inch (ppi)

3. Number of ends per inch (epi)

4. Number of threads per inch (nti)

Options :
878270176481. 1
878270176482. 2

878270176483. 3



878270176484. 4

Question Number : 61 Question Id : 87827044909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U@ 93 5U P A 1 1 3eal & aa e 27

1. 9 W ufd 9 24! &1 G=&AT (npi)
2. Ufd 54 ol &1 T= (ppi)
3. ufd 59 4RI &1 T&T (epi)
4. Ufd 9 4T @1 &I (nti)

Options :

878270176481. 1
878270176482. 2
878270176483. 3

878270176484. 4

Question Number : 62 Question Id : 87827044910 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



hMatch List-1 with List-II

List-1

List-11

Properties

Example/ Technique

(A). Thermoplastic yarns

(). Malipol Technique

(B). Spinning Method

(I). False Twist Method

(C). Pile Fabrics

(1. Milanese

(D). Knitting Stitch

(IV). Bicomponent

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

2. (A) - (), (B) - (1), (C) - (), (D) - (V)

3. (A) - (1), (B) - (V), (C) - (1), (D) - (1)

4. (A) - (1), (B) - (IV), (C) - (1), (D) - ()
Options :

878270176485. 1
878270176486. 2
878270176487. 3

878270176488. 4

Question Number : 62 Question Id : 87827044910 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (1), (B) - (), (C) - (1), (D) - (IV)
2. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
3. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)
4. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)

Options :

878270176485. 1
878270176486. 2
878270176487. 3

878270176488. 4

Question Number : 63 Question Id : 87827044911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chevron is the other name of

1. Rib Weave

2. Broken Twill Weave
3. Plain Weave

4. Basket Weave

Options :
878270176489. 1
878270176490. 2

878270176491. 3



878270176492. 4

Question Number : 63 Question Id : 87827044911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR &1 GEI TH &:

1. R 99

2. Wied fga ag=
3. Hlgl 444

4. TP agA

Options :

878270176489. 1
878270176490. 2
878270176491. 3

878270176492. 4

Question Number : 64 Question Id : 87827044912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Heimtextil, a lifestyle and home products fair happens every year in January in which country

1. France
2. China
3.India

4. Germany

Options :
878270176493. 1
878270176494. 2

878270176495. 3



878270176496. 4

Question Number : 64 Question Id : 87827044912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o et SR TN JG! @ Hell gAciaed gX dy oMadl 4 g o= § Sfiford foaal Sifal &7

1.1
2.4

3. URd
4. SEAT

Options :

878270176493. 1
878270176494. 2
878270176495. 3
878270176496. 4

Question Number : 65 Question Id : 87827044913 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following fabrics is heaviest, assuming each fabric is made with size 1/40 yarns

1. Fabric A: 100 X 70
2. Fabric B: 85 X 85

3. Fabric C: 110 X 60
4. Fabric D : 100 X 80

Options :
878270176497. 1
878270176498. 2

878270176499. 3



878270176500. 4

Question Number : 65 Question Id : 87827044913 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3R T T feran o0 5 e o € 0 @US 17405 T STOR 4 1 ¢, 1 370 § TaY awl 350G B 91 B

1, TSI A100 % 70
). HUEI B: 85 x 85
3, S C: 110 60
4,1 D: 100 % 80

Options :

878270176497. 1
878270176498. 2
878270176499. 3
878270176500. 4

Question Number : 66 Question Id : 87827044914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



hMatch List-1 with List-II

List-1 List-11

Traditional Woven Textiles Region

(A).Pattu Weaving (1).Andhra Pradesh
(B).Bandha (II).Nagaland
(C).Telia Rumal (ll.Himachal Pradesh

(D).Loin Loom Weaving (IV).Odisha

Choose the correct answer from the options given below:

1. (A
2. (A
3. (A
4. (A

1), (B) - (1), (C
1), (B) - (V).
1), (B) - (1), (C
IV}, (B) - (llI),

(1), (D) - (V)
C) - (1) (D) - (1)
(V). (D) - (1)

=k
=k
=k
=k C) - (1) (D) - (1)

¥
(
¥
(
Options :

878270176501. 1
878270176502. 2

878270176503. 3

878270176504. 4

Question Number : 66 Question Id : 87827044914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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I fau e fadedl © @ wEl 3w -
1. (A) - (1), (B) - (), (C) - (1), (D) - (IV)
2. (A) - (1), (B) - (V). (C) - (1), (D) - (1)
3. (A) - (), (B) - (), (C) - (IV), (D) - (1)
4. (A) - (IV), (B) - (1), {C) - (1), (D) - (1)

Options :

878270176501. 1
878270176502. 2
878270176503. 3

878270176504. 4

Question Number : 67 Question Id : 87827044915 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Printed fabrics printed with pigments are called as ................ prints

1. Wet
2. Dry
3. Cool
4. Warm

Options :
878270176505. 1
878270176506. 2

878270176507. 3



878270176508. 4

Question Number : 67 Question Id : 87827044915 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qui® & WY Higd US| DI He U] Hgl odl & |

HE

Options :

878270176505. 1
878270176506. 2
878270176507. 3
878270176508. 4

Question Number : 68 Question Id : 87827044916 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



hMatch List-1 with List-II

List-1 List-11
Terms Used Details
(A). Ginning (1). Short, fuzzy hairlike fibers that remain on the seeds

(B). Cotton Linters |(ll). Cotton Cleaning process

(C). Hulls (11). To add luster

(D). Schreinerizing |(IV). Outside portion of the cottonseeds

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
2. (A) - (1), (B) - (1), (C) - (), (D) - (V)
3. (A) - (1), (B) - (), (C) - (V). (D) - (1)
4. (A) - (1), (B) - (V). (C) - (1), (D) - (1)

Options :

878270176509. 1
878270176510. 2
878270176511. 3

878270176512. 4

Question Number : 68 Question Id : 87827044916 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270176509. 1
878270176510. 2
878270176511. 3
878270176512. 4

Question Number : 69 Question Id : 87827044917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-11

List-1

List-11

Fibers for Industrial Application

End Use

(A).Aramid (I).Protective clothing for fire fighters, liners in aircraft seats

(B).Novoloid (I).Hot gas filteration, electric insultaion
(C).PBI (Ill).Heat protective clothing, cables and tires
(D).Sulfar (IV).Heat resistant apparel, space suits

Choose the correct answer from the options given below:

1.(A) - (1), (B) - (), (C) - (i), (D) - (IV)

2. (A) - (1), (B) - (1), (C) - (), (D) - (V)

3. (A) - (1), (B) - () (€) - (V). (D) - (I

4. (A) - (), (8) - (V). (C) - (1), (D) - (I
Options :

878270176513. 1
878270176514. 2
878270176515. 3

878270176516. 4

Question Number : 69 Question Id : 87827044917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (1), (B) - (1), (C) - (1), (D) - (V)
2. (A) - (1), (B) - (Im), (C) - (), (D) - (IV)
3. (A) - (1), (B) - (0, (C) - (IV), (D} - ()
4. (A) - (1), (B) - (V). (C) - (1), (D} - (1)

Options :

878270176513. 1
878270176514. 2
878270176515. 3

878270176516. 4

Question Number : 70 Question Id : 87827044918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



hMatch List-1 with List-II

List-1 List-11

Terms Details

(A). Dew Retting process|(l). The torn, ragged or discolored parts of a fleece

(B). Taglocks (I). Long staple
(C). Woolen yarn (111). Flax fiber
(D). Worsted yarn (IV). Short staple

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

2. (A) - (), (B) - (1), (C) - (), (D) - (V)

3. (A) - (1), (B) - (1), (C) - (1V), (D) - (1)

4. (A) - (1), (B) - (1), (C) - (IV), (D) - ()
Options :

878270176517. 1
878270176518. 2
878270176519. 3

878270176520. 4

Question Number : 70 Question Id : 87827044918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.(A) - (), (B) - (), () - (1), (D) - (IV)

2. (A) - (1), (B) - (1), (C) - (), (D) - (IV)

3. (A) - (), (B) - (), () - (1V), (D) - (1)

4. (A) - (1), (B) - (0. (©) - (IV), (D) - (IN)
Options :

878270176517. 1
878270176518. 2
878270176519. 3

878270176520. 4

Question Number : 71 Question Id : 87827044919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the right sequencing of Flax processing, from field to mill
(A). Cultivating

(B). Retting

(C). Harvesting

(D). Breaking

Choose the correct answer from the options given below:

Options :

878270176521. 1
878270176522. 2
878270176523. 3

878270176524. 4

Question Number : 71 Question Id : 87827044919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270176521. 1
878270176522. 2
878270176523. 3

878270176524. 4

Question Number : 72 Question Id : 87827044920 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Name the prints which are obtained by printing with tiny particles of fibers, adhered to a fabric surface

1. Flock
2. Blotch
3. Direct
4. Resist

Options:

878270176525. 1
878270176526. 2
878270176527.3



878270176528. 4

Question Number : 72 Question Id : 87827044920 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To DY &1 Gaig U fa0e §U LN & DI S0 o J1eH T fed food 9 arel ger ([ies) &1 9 Saise:

Options :

878270176525. 1
878270176526. 2
878270176527. 3
878270176528. 4

Question Number : 73 Question Id : 87827044921 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select a right sequence of manufacturing of nonwoven fabrics by mechanical means
(A). Finishing the fabric

(B). Bonding the Web

(C). Needlepunching the web

(D). Web Formation

Choose the correct answer from the options given below:

Options :

878270176529. 1
878270176530. 2
878270176531. 3

878270176532. 4

Question Number : 73 Question Id : 87827044921 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270176529. 1
878270176530. 2
878270176531. 3

878270176532. 4

Question Number : 74 Question Id : 87827044922 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



hMatch List-1 with List-II

List-1 List-11
Interpolymer force of attaraction and its formation Relative Strength
(A).Vander Waal's forces (1). Weak

(B). Hydrogen Bond (I).Very Weak

(C). Salt linkages (111). Very Strong
(D). Cross Links (IV). Strong

Choose the correct answer from the options given below:

). (C) - (V). (D) - (1)
1), (C) - (1), (D) - (IV)
1), (C) - (V). (D) - (1)
= |Ur[BJ- (V). (C) - (1), (D) - (1)

Options :

878270176533. 1
878270176534. 2
878270176535. 3

878270176536. 4

Question Number : 74 Question Id : 87827044922 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

2. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

3. (A) - (), (B) - (), (C) - (IV), (D) - (1)

4. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)
Options :

878270176533. 1
878270176534. 2
878270176535. 3

878270176536. 4

Question Number : 75 Question Id : 87827044923 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the sequence of Woolen yarn spinning process
(A). Sorting and grading

(B). Roving

(C). Scouring, carbonising and carding

(D). Spinning

Choose the correct answer from the options given below:

Options :

878270176537. 1
878270176538. 2
878270176539. 3
878270176540. 4

Question Number : 75 Question Id : 87827044923 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270176537. 1
878270176538. 2
878270176539. 3

878270176540. 4



